BF 10V TVREETT,

ANRBIZE T 5 MWE O ICT IS CEEA,



WOBWZEZ &,
(1) a=-3, b==-2 Otx, —a’+3a+b*>—-2b-7 OfizRD L,

O -21 @ -17 ® -11 @ -3 ® 1

(2) (=3xy3)? x (2xy)® #EtEE L,

O —72x%y8 @ 72xby® ® —72x°y° @ 72x5y°
@ _72x5y12

(3) #EXA, BIZOWT, A+B=x?+2x4+1, A—B=3x2—-10x+7 0+ %

3A+ B %#kd X,
O —x%?+14x-5 ® —x*+6x—-3 ® 5x2—6x+9
@ 5x*°+6x—3 ® 2x?>—4x+4

(4) (x+y+2)(x—y+2) ZEMHTL,

O x*+4x+y*+4 @ x2—-y*+4 @ x*+4x—y*+4
@ x%2—-2xy+y*+4 ® x%2—-2xy—y*+4

1
=—=— oLx, x’y+xy® Otk X,

D 2v2 @ 2 ® 1 @ 2 ® -2



WO X,

(1)

(2)

(3)

(4)

(5)

“on%ES A={x, y, 8}, B={2,6,7 8 M AcCB ziTLE, Eiond
x, y Offiz 1HZEZ KL,

® x=1, y=6 @ x=2,y=6 ® x=4 y=6
@ x=4, y=7 ® x=5 y=7

G Tx=3 1Fx*=81 Thorvo [ | izonT, Db TEELI LD
BEZ X,

VEAGEETH D,
VEEMTHDLN, +05EThu,
FTREUTHD N, BESETRU,
VT H A TH R,
METRNOT, HFrTE22u,

GECHONCNG

—3=a<2 1=b<5mntx, a—>b OfEOHPIHERD X,

® a-b<-8 a-b>1 @ a—-b<-8 a—-b=1
® —-8<a—-b=1 @ —-8=a-b<1
® —-8<a-b<1

FEAX |B3x—6]l =12 %R,

O —-2=x=6 @ —-6=x=6 ® x=6
@ x=-2 ® x=-2, x26
e (X +2<2x+4 -
e {3x_1§x+9 BT,
O x<-=-2 @ x=25 ® x<-2, x=5 @ —-2<x=5
® fR7eL



2B y=—x?+4x +k?—2k—19 2o\ T, KOMWMZEZ L,
(1) ZoO2WREEDERREZLLEED x OEZRD K

O x=-2 @ x=-1 ® x=0 @ x=1 ® x=2

(2) ZoO2WEEOT7T770xx i 2,5 Cxbb &, k ofmHERD X,

O k<=3, k>5 @ k<=2 k>2
® —-2<k<?2 @ —-2<k<19
® —-1<k<3

(3) ZO2WEBD7 T 7R E@D L&, k OEZRD K,

O k=2, -19 ® k=3, -5 ® k=1+2V5 @ k=-2++3
® k=0

(4) k=6 Dbx 3=Sx=S6 TZO2WREHN L AEOEFZRD X,

~

=

0

=8 ® -7=y=9

)
® 8

A
I ==

y



2R ) =(x+2)2+5(+2)+6 (ZoNT, KOMWIZEZ L,
(1) f(2) ofizkd X,

© -4 @ 0 @ 4 @ 20 ® 42

(2)  f(x) ZRESfEE L,

O fx)=C+2)(x+3) @ f(x)=Cx+3)(x+4)
@ fx)=(x+4)(x+5) @ f(x)=(x+4)?
® f(x) = (x+6)*

(3)  f(x) =0 OfgaRkd X,



HEDO=FAFHAB ClZoNT, A
/BAC =15° /BCD=60° BC=1 0k,
ZO=MBEFM L TROMWIZE X X
15°
D
60",
B H Ay

(1) tan75° %R X,

® 1 @ V2 ® 142 @® 1++V3 ® 243

(2) 0°<6<180° T tan75°tand =1 %= 0 OfEzRo L,

© 6=15° ©@ 6 =30° ® 6 =60° @ 6 =105°
® 6 =135°

(3) cos75° #kwd L,

V2
4

S
9
5
7
5

@

©
N R



